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5 ft, 3 ft/min per ft,
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a)2.5 min
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  0,1,2,...

0: (1)(0)1.5(0)101.5(10)5.2566 ft

1: (2)(1)1.5(1)5.25661.5(5.2566) = 1.817

5 ft

2: (3)(2)1.5(2)1.81751.5(1.8175) =0.2047

 

=

û

éù

==-=-=

ëû

éù

==-=-

ëû

éù

==-=--

ëû

AAA

AAA

AAA

n

nHHH

nHHH

nHHH

1/2

1/21/2

1/21/2

ft

etc.

b)1 min

(1)()0.6()  0,1,2,...

0: (1)(0)0.6(0)100.6(10) 8.1026 ft

1: (2)(1)0.6(1)9.52570.6(9.5257) = 6.394

7  ft

2: (3)(2)0
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.6(2)9.06270.6(9.0627) = 4.8775 ft

etc.
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c)0.25 min

(1)()0.15()  0,1,2,...

0: (1)(0)0.15(0)100.15(10)9.5257 ft

1: (2)(1)0.15(1)9.52570.15(9.5257) = 9.0

627  ft

2: (3)(2)
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0.15(2)9.06270.15(9.0627) = 8.6111 ft

etc.

d)0.025 (extra part)

(1)()0.015()  0,1,2,...

(0)10

(1) 9.9526

(2) 9.9052

(3) 9.8580
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